



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ คะแนน: \_\_\_\_\_

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{4}\right) \times \frac{1}{3} - \left(\frac{1}{3} - \frac{3}{5}\right)^2 =$$

$$\left(5 + \frac{2}{5}\right)^2 - \frac{1}{5} \times \frac{3}{2} - 3^2 =$$

$$\left(\frac{1}{3} + \frac{2}{3}\right)^2 + \frac{3}{2}\left(\frac{1}{3} - \frac{3}{5}\right) =$$

$$\left(2 + \frac{1}{4}\right)^2 - \frac{2}{3} + \frac{1}{5} \times 2^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{2}{3}\right) \times \frac{2}{3} - \left(\frac{1}{2} + \frac{3}{4}\right)^2 =$$

$$\left(\frac{1}{5} - \frac{3}{2}\right)^2 + \frac{1}{3}\left(\frac{1}{6} - \left(\frac{3}{2}\right)^2\right) =$$

$$\left(5 - \frac{1}{6}\right)^2 - \frac{1}{4} \times \frac{1}{5} \times 2^2 =$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{3}{4}\right) \times \frac{1}{2} - \left(\frac{1}{5} - \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{2} - \frac{1}{3}\right)^2 + \frac{3}{4}\left(\frac{3}{2} + \left(\frac{2}{3}\right)^2\right) =$$

$$\left(\frac{1}{3} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{2}{5} - \frac{1}{2}\right)^2 =$$



ชื่อ: \_\_\_\_\_

วันที่: \_\_\_\_\_ คะแนน: \_\_\_\_\_

$$\left(\left(\frac{1}{2}\right)^2 + \frac{1}{4}\right) \times \frac{1}{3} - \left(\frac{1}{3} - \frac{3}{5}\right)^2 = \frac{43}{450}$$

$$\left(5 + \frac{2}{5}\right)^2 - \frac{1}{5} \times \frac{3}{2} - 3^2 = \frac{993}{50} = 19\frac{43}{50}$$

$$\left(\frac{1}{3} + \frac{2}{3}\right)^2 + \frac{3}{2}\left(\frac{1}{3} - \frac{3}{5}\right) = \frac{3}{5}$$

$$\left(2 + \frac{1}{4}\right)^2 - \frac{2}{3} + \frac{1}{5} \times 2^2 = \frac{1247}{240} = 5\frac{47}{240}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{2}{3}\right) \times \frac{2}{3} - \left(\frac{1}{2} + \frac{3}{4}\right)^2 = \left(-\frac{265}{144}\right) = \left(-1\frac{121}{144}\right)$$

$$\left(\frac{1}{5} - \frac{3}{2}\right)^2 + \frac{1}{3}\left(\frac{1}{6} - \left(\frac{3}{2}\right)^2\right) = \frac{224}{225}$$

$$\left(5 - \frac{1}{6}\right)^2 - \frac{1}{4} \times \frac{1}{5} \times 2^2 = \frac{4169}{180} = 23\frac{29}{180}$$

$$\left(\left(\frac{3}{5}\right)^2 + \frac{3}{4}\right) \times \frac{1}{2} - \left(\frac{1}{5} - \frac{1}{3}\right)^2 = \frac{967}{1800}$$

$$\left(\frac{1}{2} - \frac{1}{3}\right)^2 + \frac{3}{4}\left(\frac{3}{2} + \left(\frac{2}{3}\right)^2\right) = \frac{107}{72} = 1\frac{35}{72}$$

$$\left(\frac{1}{3} - \left(\frac{1}{3}\right)^2\right) \times \frac{1}{3} + \left(\frac{2}{5} - \frac{1}{2}\right)^2 = \frac{227}{2700}$$